SU6922-GP

2008 - 2010 Suzuki GSXRE00 / 750 Black "GP" Slip-On

Component Key

1| Black "GP" Cone SCM-SUGSXRBOD-08CE
2| Bracket G5103

3| Barrel Clamp BC-61

4| M8 x 20mm Hex Flange Bolt | FA-HF8208

5| M8 x 40mm Button Head Bolt |FA-BEHE408

B M8 Flange Mut FA-HHBN

M4 Exhaust System SU6922-GP

Item# Description Part#

1 Black “GP” Cone SCM-SUGSXR600-08CB

2 Bracket GS103

3 Barrel Clamp BC-61

4 M8 x 20mm Hex Flange Bolt FA-HF820B

5 M8 x 40mm Button head Bolt FA-BH840B

6 M8 Flange Nut FA-HH8N

M4 Performance Exhaust
www.M4exhaust.com

2227 Joe Field Road
PERFORMANCE EXHAUST SYSTENS Dallas, Texas 75229

972-481-9300



